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This document contains all of the project problems. 

To help prevent cheating, I have collected 30 different problems for each part of the project. Students in each class can randomly select a problem for each of the Parts 2 – 4. 

Part 2: Unit 1 – Problems 1 – 30

Part 3: Unit 2 – Problems 31 – 60

Part 4: Unit 3 – Problems 61 - 90

1)  Stopping Distance:  On dry asphalt, the distance d (in feet) needed for a car to stop is given by

d = 0.05s2 + 1.1s where s is the car’s speed (in miles per hour).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  If a car is traveling at 50 miles per hour, how much room would be needed to come to a complete stop?  Write your answer as a sentence in the context of this problem.  Show your work.


d)  What speed limit should be posted on a road where drivers round a corner and have 80 feet to come to a stop?  Write you answer as a sentence in the context of this problem.  Show your work.

2)  Kangaroo Hop  When a gray kangaroo jumps, its path through the air can be modeled by 

y = –0.03x2 + 0.8x where x is the kangaroo’s horizontal distance traveled (in feet) and y is its corresponding height (in feet).  

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high in the air is the kangaroo when it has covered a horizontal distance of 10 feet?

Show your work.  Write your answer as a complete sentence in the context of the problem.


d)  At what two distances is the kangaroo at a height of 4½ feet?  Show your work.  Write your answer in a complete sentence in the context of the problem.

3)  Stopping Distance:  For a road covered with dry, packed snow, the formula for a car’s stopping distance can be modeled by d = 0.08s2 + 1.1s where s is the speed of the car (in miles per hour) and d is the stopping distance (in feet).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c)  If a car is traveling at 30 miles per hour, how much room would be needed to come to a complete stop?  Write your answer as a complete sentence in the context of this problem.  Show your work.


d)  What is a safe speed to travel on a road covered with snow where drivers round a corner and have 80 feet to come to a stop?  Write your answer in a complete sentence in the context of this problem.  Show your work.

4)  Firefighting:    In firefighting, a good water stream can be modeled by y = –0.003x2 + 0.62x + 3 where x is the water’s horizontal distance traveled (in feet) and y is its corresponding height (in feet).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  If a firefighter is standing 185 feet from a burning building, at what height will the water stream hit the building?  Show your work.  Write your answer as a complete sentence in the context of the problem.


d)  If a firefighter is aiming a good water stream at a building’s window 25 feet above the ground, at what two distances can the firefighter stand from the building? Show your work.  Write your answer in a complete sentence in the context of the problem.

5)  Plane Landing:  The length l (in feet) of a runway needed for a small airplane to land is given by 

L = 0.1s2 – 3s + 22 where s is the airplane’s speed (in feet per second).  


a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  If an airplane is traveling at a speed of 220 ft/sec., how many feet of runway are needed to land?  Show your work.  Write your answer in a complete sentence in the context of the problem. 


d)  If a pilot is landing a small airplane on a runway 2000 feet long, what is the maximum speed at which the pilot can land?  Show your work.  Write your answer in a complete sentence in the context of the problem.

6)  Punt Kick:  A punter kicked a 41-yard punt.  The path of the football can be modeled by 

y = –0.035x2 + 1.4x + 1, where x is the horizontal distance (in yards) the football is kicked and y is the height (in yards) the football is kicked.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high was the ball after traveling 25 horizontal yards?  Show your work.  Write your answer in a complete sentence in the context of the problem.


d)  At what two horizontal distances was the ball at a height of 10 yards?  Show your work.  Write your answer in a complete sentence in the context of the problem.

7)  Women’s Heptathlon:  Jackie Joyner-Kersee won the women’s heptathlon during the 1992 Olympics in Barcelona, Spain.  Her throw in the shot put, one of the seven events in the heptathlon, can be modeled by y = –0.03x2  + x + 5.5 where x is the shot put’s horizontal distance traveled (in feet) and y is its corresponding height (in feet). 

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high was the shot put when it had traveled a horizontal distance of 32 feet?  Show your work.  Write your answer in a complete sentence using the context of the word problem.


d)  At what two horizontal distances was the shot put 12 feet high?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

8)  Golf:  Monica is on the golf team.  When she hits the ball with enough force to give it an initial speed of 112 feet per second, the height (in feet)of the ball is given by 
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,  where t is the time (in seconds) after her club hits the ball.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high is the ball after 3 seconds?  Show your work.  Write your answer in a complete sentence in the context of the problem.


d)  At what two times is the ball 50 feet off the ground?  Show your work.  Write your answer as a complete sentence in the context of the problem.

9)  Punt Kick:  On fourth down, a team is just out of field goal range.  The punter is called in to punt.  To avoid kicking the ball into the end zone, the punter needs to kick the football high and short.  This punt can be modeled y = –0.088x2 + 2.5x + 1, where x is the horizontal distance (in yards) the football is kicked and y is the height (in yards) the football is kicked.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high is the ball after traveling a horizontal distance of 10 yards?  Show your work.  Write your answer in a complete sentence in the context of the problem.


d)  How far had the ball been kicked when it hit the ground?  Show your work.  Write your answer as a complete sentence in the context of the problem.

10)  Roller Coaster:  The height of a moving roller coaster (in feet) can be modeled by the function 
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a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c)  What is the height of the roller coaster after 2 seconds?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

d)  How long does it take for the roller coaster to be 100 feet above the ground?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

 11)  Baseball:  A baseball player hits the ball with an initial velocity of 100 feet per second.  The height (in feet) is given by the function 
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, where t is time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c)  What is the height of the softball after 3 seconds?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

d)  If the outfielder catches the ball at a height of 5 feet, how long is the ball in the air?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

12)  Moon Rock:  An astronaut standing on the surface of the moon throws a rock into the air with an initial velocity of 27 feet per second.  The astronauts hand is 6 feet above the surface of the moon.  The height (in feet) of the rock is given by h = –2.7t2 + 27 t + 6, where t is time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  At what height will the rock be after 8 seconds?  Show your work.  Write your answer in a complete sentence in the context of the problem.


d)  How long would the rock be in the air if a fellow astronaut caught the rock as it was coming down at a height of six feet?  Show your work.  Write your answer in a complete sentence in the context of the problem.

13)  Geyser: A geyser sends a blast of boiling water high into the air.  During the eruption, the height h (in feet) of the water t seconds after being forced out from the ground could be modeled by             

h = –16t2 + 70t.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high is the water after 3.5 seconds?  Show your work.  Write your answer in a complete sentence using the context of the problem.


d)  At what two times is the water at a height of 65 feet?  Show your work.  Write your answer in a complete sentence using the context of the problem.

14)  Old Faithful:  Old Faithful in Yellowstone Park is probably the world’s most famous geyser.  Old Faithful sends a stream of boiling water into the air.  During the eruption, the height h (in feet) of the water t seconds after being forced out from the ground could be modeled by h = –16t2 + 150t.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high is the water after 2 seconds?  Show your work.  Write your answer in a complete sentence using the context of the problem.


d)  At what two times is the water at a height of 275 feet?  Show your work.  Write your answer in a complete sentence using the context of the problem.

15)  Rocket:  A rocket’s path can be modeled by the function 
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, where h is the height of the rocket (in feet) and t is the time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c) What is the height of the rocket after 4 seconds?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

d) At what two times is the rocket 20 feet above the ground?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

16)  Puu Puai:  The volcanic cinder cone Puu Puai in Hawaii was formed in 1959 when a massive lave fountain erupted at Kilauea Iki Crater shooting lava hundreds of feet into the air.  When the eruption was most intense, the height h (in feet) of the lava t seconds after being ejected from the ground could be modeled by h = – 16t2 + 350t.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c)  At what height was the lava 15 seconds after being ejected from the ground?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

d)  How long would it take for the lava to reach a height of 1000 feet on the way up?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

17)  Rocket Path:  The formula for the path of a model rocket is h = –4.9t2 + 45t + 1.3, where h is the height (in meters) and t is the time ( in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high will the rocket be after 3 seconds?  Show your work.  Write your answer in a complete sentence using the context of the word problem.


d)  How long will it take the rocket to reach a height of 95 meters on the way up?  Show your work.  Write your answer in a complete sentence using the context of the word problem.

18)  Rock Thrown:  A rock is thrown from the top of a tall building.  The distance (in feet) between the rock and the ground t seconds after it is thrown is given by d = –16t2 – 2t + 445.  

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  What is the height of the rock after 5 seconds?  Show your work.  Write your answer in a complete sentence using the context of the word problem.


d)  How many seconds have passed when the rock is 340 feet from the ground?  Show your work.  Write your answer as a sentence in the context of the word problem.

19)  Cannon:  When a cannon is fired, the height of the shell (in meters) is given by the function       

h = – 4.9t2 + 24t + 5 where t is the time (in seconds).  

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  What is the height of the shell after 2 seconds?  Show your work.  Write your answer as a sentence in the context of the word problem.


d)  How long will it take the shell to reach a height of 30 meters on the way back down?  Show your work.  Write your answer in a complete sentence using the context of this problem.

20)   Softball:  A softball is thrown straight up in the air with an initial velocity of 100 feet per second.  The height (in feet) is given by the function h = –16t2 + 100t where t is time (in seconds).  

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  What is the height of the softball after 2.5 seconds?  Show your work.  Write your answer in a complete sentence using the context of this problem.


d)  How long will it take the softball to reach a height of 84 feet on the way back down?  Show your work.  Write your answer in a complete sentence using the context of this problem.

21)  Sling Shot:  The height of a rock (in feet) that has been launched from a sling shot can be modeled by the function h = –4.9t2 + 49t + 2.5 where t is time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  What is the height of the rock after 7 seconds?  Show your work.  Write your answer in a complete sentence using the context of this problem.


d)  How long will it take for the rock to reach a height of 50 feet going up?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

22)  Baton Twirling:  A baton twirler tosses a baton into the air.  The baton leaves the twirler’s hand 6 feet above the ground and has a initial vertical velocity of 45 feet per second.  The height of the baton can be modeled by h = –16t2 + 45t + 6 where t is the time (in seconds) and h is the height of the baton (in feet).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high is the baton 2 seconds after it is tossed?  Show your work.  Write your answer as a complete sentence in the context of this problem.  


d)  How long does the baton remain in the air if the twirler catches it at a height of 5 feet?  Write your answer as a complete sentence in the context of this problem.  Show your work.

23)  Rock launched:  The height of a rock (in feet) that has been launched from a sling shot can be modeled by the function 
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, where t is time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c)  What is the height of the rock after 5 seconds?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

d)   At what two times is the rock 100 feet above the ground?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

24)  Cliff Diving:  In July of 1997, the first Cliff Diving World Championships were held in Brontallo, Switzerland.  If a cliff diver jumps from a height of 92 feet with an initial upward velocity of 5 feet per second, the dive can be modeled by h = -16t2 + 5t + 92 where h is the height (in feet) and t is the time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high above the water is the diver after 1.5 seconds?  Show your work.  Write your answer in a complete sentence in the context of the problem.


d)  How long will it take the diver to be 25 feet above the surface of the water?  Show your work.  Write your answer in a complete sentence in the context of the problem.

25)  Coin Thrown:  Carl throws a coin into the air.  The distance (in feet) between the coin and the ground t seconds after it is thrown is given by d = –16t2 + 40t + 6.  

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  What is the height of the coin after 2 seconds?  Show your work.  Write your answer in a complete sentence using the context of the word problem.

d)  How many seconds have passed when the coin reaches the ground?  Show your work.  Write your answer as a sentence in the context of the word problem.

26) Falling Object:  An object is propelled upward from the top of a 500-foot building.  The path that the object takes as it falls to the ground can be modeled by h = –16t2 + 100t +500 where t is time (in seconds) and h is the corresponding height (in feet) of the object.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  At what height will the object be after 5 seconds?  Show your work.  Write your answer in a complete sentence in the context of the problem.

d)  How many seconds did it take for the object to hit the ground?  Show your work.  Write your answer as a complete sentence in the context of the problem. 

27) Golf Ball:  A golf ball is dropped from the top of a building.  The ball’s height (in meters) is modeled by 
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a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.

c)  What is the height of the golf ball after 2 seconds?  Show your work.  Write your answer in a complete sentence using the context of this word problem.

d)  Determine how long it takes for the ball to be 2 meters above the ground.  Show your work.  Write your answer in a complete sentence using the context of this word problem.

28) Dropped Object:  If an object is dropped from a height of 50 feet, the function d =  –16t2 + 50 gives the height of the object after t seconds.

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high above the ground is the object after 1.5 seconds?  Show your work.  Write your answer in a complete sentence using the context of the problem.

d)  How long before the object hits the ground?  Show your work.  Write your answer in complete sentence using the context of the problem.

29) Canadian Crows:  Many birds drop shellfish onto rocks to break the shell and get to the food inside.  Crows along the west coast of Canada use this technique to eat whelks (a type of sea snail).  Suppose a crow drops a whelk from a height of 20 feet.  The equation that models the whelk’s height h (in feet) after t seconds is h = –16t2 + 20. 

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  How high above the rocks is the whelk after 0.5 seconds?  Show your work.  Write your answer in a complete sentence using the context of the word problem.

d)  How long does it take for the whelk to be 10 feet above the rocks?  Show your work.  Write your answer in a complete sentence using the context of the word problem.

30)  Niagara Falls:  Niagara Falls in New York is 167 feet high.  The falling water can be modeled by 

h = –16t2 + 167 where h is the height of the water (in feet) and t is the time (in seconds).

a)  The input value for this function represents __________________________________.


b)  The output value for this function represents __________________________________.


c)  What is the height of the falling water after 2 seconds?  Show your work.  Write your answer as a complete sentence in the context of this problem.

d) How long does it take for the water to fall from the top to a height of 125 feet?  Show your work.  Write your answer in a complete sentence in the context of the problem.

31. A dump truck has a 10-foot bed. When tilted at its maximum angle, the bed reaches a height of 7 feet above its original position. What is the maximum angle that the truck bed can tilt? 

32. A dump truck has a 10-foot bed. When tilted at its maximum angle, the bed reaches a height of 7 feet above its original position. When the dump truck is open halfway, what is the measure of the angle of the truck bed? 

33. An airplane flying at an altitude of 30,000 feet is headed toward an airport. To guide the airplane to a safe landing, the airport’s landing system sends radar signals from the runway to the airplane at a 10º angle of elevation. How far is the airplane from the airport runway?

34. An airplane is headed toward an airport. To guide the airplane to a safe landing, the airport’s landing system sends radar signals from the runway to the airplane at a 10º angle of elevation.

            If the airplane is at an altitude of 40,000, how far is the airplane from the airport runway? 

35. The top of a lighthouse is 120 meters above sea level. From the top of the lighthouse, the measure of the angle of depression to a boat on the ocean is 43º.  How far is the boat from the foot of the lighthouse?

36. The top of a lighthouse is 120 meters above sea level. From the top of the lighthouse, the measure of the angle of depression to a boat on the ocean is 43º.  If a person standing on top of the lighthouse shines a light toward the boat, how far must the ray of light reach? 

37. A tree was broken in a recent storm. The top of the tree touches the ground 13 meters from the base. The top of the tree makes an angle of 29º with the ground.   How tall was the tree before it was broken?

38. You are an architect designing a new parking garage for the city. The floors of the garage are to be 20 feet apart. The exit ramps between each pair of floors are to be 120 feet long.  What is the measure of the angle of elevation of each ramp?

39. You are an architect designing a new parking garage for the city. The floors of the garage are to be 20 feet apart. The exit ramps between each pair of floors are to be 120 feet long.  What is the horizontal distance of each ramp to the nearest foot?

40. Built in Pittsburgh in 1877, the Duquesne Incline transports people up and down the side of a mountain in cable cars. The track of the Duquesne Incline is about 1200 feet long and the angle of elevation is 30º. How high does the incline rise?

41. Built in Pittsburgh in 1877, the Duquesne Incline transports people up and down the side of a mountain in cable cars. The track of the Duquesne Incline is about 1200 feet long and the angle of elevation is 30º.  What is the horizontal distance from the beginning of the incline to the top? 

42. You are standing 150 meters from the base of the Jim Mao Building in Shanghai, China. You estimate that the angle of elevation to the top of the building is 80º.   What is the approximate height of the building?

43. You are standing 100 meters from the base of the Jim Mao Building in Shanghai, China. You estimate that the angle of elevation to the top of the building is 80º.   Suppose one of your friends is at the top of the building. What is the distance between you and your friend?

44. A gangplank is a narrow ramp used for boarding or leaving a ship. The maximum safe angle elevation for a gangplank is 20º.  Suppose a gangplank is 10 feet long. What is the closest a ship can come to the dock for the gangplank to be used?

45. A gangplank is a narrow ramp used for boarding or leaving a ship. The maximum safe angle elevation for a gangplank is 20º.  A 14-foot gangplank is 13 feet from the boat. Is the gangplank placed at a safe angle according to the guidelines above? 

46.   A firefighter leaned a 32-foot ladder against a building. The top of the ladder touches the building 26 feet above the ground.  What is the measure of the angle formed between the ladder and the building? 

47. A firefighter leaned a 20-foot ladder against a building. The top of the ladder touches the building 18 feet above the ground.  What is the measure of the angle formed between the ladder and the building? 

48. A wooden brace is cut to fit the diagonal of a gate that is 4 feet wide and 6 feet tall. What is the measure of the angle where the brace meets the bottom of the gate? 

49. A wooden brace is cut to fit the diagonal of a gate that is 4 feet wide and 6 feet tall. How long is the brace? 

50. A ramp to launch boats is built at an angle of 5º. The length of the ramp is 40 feet. How far above the water is the dock? 

51. A ramp to launch boats is built at an angle of 5º. The length of the ramp is 40 feet. How far in the water does the ramp extend?

52. A 40-foot water pipe runs from a building to the main water line in the street. The pipe drops vertically 2.5 feet from the building to the main line. What angle does the pipe make with the horizontal? 

53. A 40-foot water pipe runs from a building to the main water line in the street. The pipe drops vertically 2.5 feet from the building to the main line How far from the building is the main line?

54.  An escalator makes an angle of 10º with the ground floor. The escalator travels 59.1 feet horizontally. What is the length of the escalator?

55.  An escalator makes an angle of 10º with the ground floor. The escalator travels 59.1 feet horizontally. How tall is the escalator?

56. To measure the width of a river you plant a stake on one side of the river, directly across from a boulder. You then walk 100 meters to the right of the stake and measure a 79º angle between you and the boulder. What is the width of the river?

57. A car is traveling 500 meters along a raised exit ramp.   If the ramp rises approximately 26 meters, what is the measure of the angle made between the ramp and the ground?

58. A car is traveling 500 meters along a raised exit ramp.   If the ramp rises approximately 26 meters, what is the horizontal distance traveled?

59. According to a pilot’s instruments, the measure of the angle of depression of an aircraft carrier from a plane 1000 feet above the water is 63º.  How far is the plane from the carrier?

60. A kite is flying on the end of a 30-foot string. The kite string makes a 65º angle with the ground. How far above the ground is the kite?

Problem # 61 - A 50-foot by 20-foot rectangular barn sits inside of a pasture. A 55-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?

  




Problem # 62 - A 50-foot by 20-foot rectangular barn sits inside of a pasture. A 60-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?





Problem # 63 - A 50-foot by 20-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 64 - A 40-foot by 30-foot rectangular barn sits inside of a pasture. A 55-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 65 - A 40-foot by 30-foot rectangular barn sits inside of a pasture. A 60-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?

Problem # 66 - A 40-foot by 30-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 67 - A 45-foot by 35-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 68 - A 45-foot by 35-foot rectangular barn sits inside of a pasture. A 70-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 69 - A 45-foot by 35-foot rectangular barn sits inside of a pasture. A 75-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 70 - A 45-foot by 25-foot rectangular barn sits inside of a pasture. A 55-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 71 - A 45-foot by 25-foot rectangular barn sits inside of a pasture. A 60-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 72 - A 45-foot by 25-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 73 - A 45-foot by 40-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 74 - A 45-foot by 40-foot rectangular barn sits inside of a pasture. A 70-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?



Problem # 75 - A 45-foot by 40-foot rectangular barn sits inside of a pasture. A 75-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 76 - A 35-foot by 40-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 77 - A 35-foot by 40-foot rectangular barn sits inside of a pasture. A 70-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 78 - A 35-foot by 40-foot rectangular barn sits inside of a pasture. A 75-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?



Problem # 79 - A 30-foot by 35-foot rectangular barn sits inside of a pasture. A 55-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 80 - A 30-foot by 35-foot rectangular barn sits inside of a pasture. A 60-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 81 - A 30-foot by 35-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 82 - A 50-foot by 30-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 83 - A 50-foot by 30-foot rectangular barn sits inside of a pasture. A 70-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 84 - A 50-foot by 30-foot rectangular barn sits inside of a pasture. A 75-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?



Problem # 85 - A 40-foot by 25-foot rectangular barn sits inside of a pasture. A 55-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 86 - A 40-foot by 25-foot rectangular barn sits inside of a pasture. A 60-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 87 - A 40-foot by 25-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 88 - A 55-foot by 20-foot rectangular barn sits inside of a pasture. A 55-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 89 - A 55-foot by 20-foot rectangular barn sits inside of a pasture. A 60-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?


Problem # 90 - A 55-foot by 20-foot rectangular barn sits inside of a pasture. A 65-foot rope, to which a goat is tied, is mounted to the midpoint of the longer side of the barn. What is the total grazing area of the goat?
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